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, Consid W a
. er th i
| e follo Ing statementg -

India after. its liberalization of economic

enormously. , _
2. Share of India’s exports in world trade
increased. = .
3. . FDIinflows increased.

~ Nuclear Transfer Technology ?

AMC-U-BKLP

Kl the-election for. Lok
Ssembly, the winning candidate must

get at least 50 - Percent of the voteg
polled, to be declared elected.

Sabha or State

According to the Provisions laid down m

the Constitution of India, in Lok Sabha,

the Speaker’s Post goes to the majority

party and the Deputy Speaker’s to the-

Opposition.

Which' of the statements given above is/are
correct ? s I e

(a) lonly

(b) . 2only

(¢) Bothland2
(d) Neither 1nor2

Which of the followihg has/ha.ve occurred in

policies in 1991 ? ,
1. Share of_‘- agriculture in GDP increased

4, - India’s foreign exchange ' reserves
increased enormously.

Select the cori'e_ct answer ﬁsing the codes
given below : :

(a) 1and4only
(b) 2,3 and 4 only
(¢) 2and3only
(d) '1,2,3and4

What is the application of ‘Somati‘c Cell

(a) Prodﬁction of biolarvicides
()

(¢) Reproductive cloning of animalg

Manufacture of biodegradable plastics

(@

Production of organisims free of diseases

(326}

Consider the following statementy .

1. - National Payments COI"poration Qf.India

-

3. It will enorm

- (NPCI) helps in Promoting the financial
inclusion in the country,
9. NPCI ‘has launched RuPay, a card
payr_nent scheme. ‘
Which of the statements given abo;fe is/are
correct ? ‘ ‘

(a) lonly

® 2only

(¢)  Both1land2
(d) Neithér_ 1nor2

The term ‘M-STrIPES’ is sometimes seen in
the news in the context of

(a) Captive breeding of Wild Fauna
~ (b) Maintenance of Tiger Reserves
(¢) Indigenous Satellite Navigation System
(d)

Security of National Highways

What is/are the most likely advantages of

implementing ‘Goods ‘and Services = Tax

(GSTY ? i .

.1~ It will replace multiple taxes collected by

i 'multiple authorities and will thus create a
single market in India:

2. It will drastically reduce the ‘Current

Account Deficit’ of India and will enable it

to increase its foreign exchang® reserves.

ously increase the growth
and size of economy of I“dfa and will
enable it to overtake China in the near
future.

o the ¢ i
Select the correct answer using the code given

- below :
(@) 1only
(b)y 2and3only
fe) - 1 and 3 only
@ 12and3
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Broag. In India, it is legally manday; :
o based Investment the following to report b ory for which of
ment (BTIA) is sometimes seen in the cyber security

n .
WS in the context of negotiations held

Trade  and

incidents ?

between India and 1. Service providers
(a) _ European Union : D
& 2. ata centres

Gulf Cooperation Council

(c)

Organization for Economic Cooperation 3.  Body corporate
and Development :

: ‘ ) Select the correct answer using th i
(d) Shanghai Cooperation Organization ; ‘ ing the code given

below :
8.  Consider the following statements : (a) 1lonly
1.  India has ratified the Trade Facilitation (b) 1and 2 only
Agreement (TFA) of WTO. : y
‘ (¢) 3only.
2.  TFA is a part of WTO’s Bali Ministerial W ;
~ Package of 2013. (d 1,2and3

3. TFA came into force in January 2016.

Which of the statements gi{ren above isfare |11. Right to vote and to be elected in In_dia isa

? . .
RO (a) Fundamental Right
(a) ~ 1and 2 only : ‘ | |
~(b) 1land3only . (b) Natural Right ‘
l ' . ' : S i
(e} Biauc oy T - (¢ Constitutional Right | 1
(d 1,2and3 . |

(d) Legal Right

+ 9, What is the imp(;rtanbe of developing

Chabahar Port by quia 7 ; | 12. What is the pﬁrpose of ‘evolv_e_d( Laser
: , o : - Antenna  (eLISAY
(a). India’s trade with African countries will Interferometer “Space : S
" e project ?
enormously increase.
s inos
(b) India’s relations with oil-producingj . il o deiemEiians

Arab countries will be strengthened. by To detect gravitationa.l wavgs

(¢) India will not depend on Pakistan for

I‘ ¢y To detect the effectiveness of missile
access to Afghanistan and Central Asia. |

_defence system:
(d) Pakistan will facilitate and protect the

installation of a gas pipeline betweel @ To study f:he effect of solar 1lares on our
Irag and India . ' ' : ' comMunication systems
AMC-U-BKLP
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13. ,

Consider the following statem, Ats

i, dyanjali Yojana’ ? U
0 enable the Btsus  dored 1. The Election Comzmsslon of Tndia i
educational instit ¢ five-member bod S
1 utlons to open their . 0 y. _‘:'
Campuses in India, g
. . Union Minist N
2 To increase the quality of education 2 ' . 1y of Home Affairs decides
provided in government schools by the election schedule for the conduct of
:lallﬂng help from the private sector and both general elections and bye-elections.
€ community.
3. To encourage voluntary. tary 3. Rl ol eaiven (Sl
mone . . :
contributions from private individuals disputes relating to. splitsmergers of
and organizations so as to improve the recognised political parties.
infrastructure facilities for primary and
secondary schoals P = - Which of the statements given above is/are
()
Select the correct answer using the code given e
below : ‘
- "(a) 1land2only
z (a) 2 only
) (b) 3only (b) - Zonly
(¢) 1and2only 1 (¢ 2and3only
(d) 2and3only ° o
! _ (d) 3only
14. What is-the aim of the programme TUnnat

Bharat Abhiyan’ ? ‘

(a) . Achieving 100% literacy by promoting & ,
collaboration between voluntary e
organizations  and  government’s | & ot :
education system and  local 134. In India ; lf,_a 5B
communities. '

(b)  Connecting . institutions -

i ‘education with local communities to | (@) It enjoys the same level of protection as
“address devejlopment challenges : ¢he tiger.
through appropriate technologies. ‘

(© Strengthening India’s scientific research | (b) It no longer exists in the wild, a few
institutions in order to make India a : individuals are under captive
scientific and technological power. protection; and now it is impossible to

(d Developing human capital by allocating prevent its extinction.
special funds for health care and . : .
education of rural and urban poor, and (¢ It is endemic to a particular region of
organizing skill ' development ~ India.
f}fgf:ammes and vocational training for (@ Both (b) and (c) stated above are correct

e in this context,
AMC-U-BKLP (7-C)
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17 I Recently there wag 4 ;
* Inlng; i ‘ : Propog ‘
‘ ( Ndia, Judicia) Review impljes g0 gome of the lions from theiy n:iuto ltranslocate |
a) it : jarat to which the o T habitat iy
the power of the Judiciary to pronounce G 161 0ne of the fOllowing sites ?
:}1::: tt-he co;stitutionality of laws and (a)  Corbett National'Park
utive orders, ; —
(b) (b)  Kuno Palpur Wilgijg, Sancty
the power of the Judiciary to question Mudumalai Wildlifs a... . ary
the wisdom of the laws enacted by the (c) | Wildlife Sanctuary
Legislatures, = (d) Sariska National Park
(©  the Power of the Judiciary to review all - . ‘
the legislative enactments before they | g1, Which of the following are not Necessarily the
are assented to by the President. consequences of the proclamation of the
g . td - 2
(d) the power of the Judiciary to review its | , President’s rulle in a State ? :
own judgements given earlier in similar 1.  Dissolution of the State Legislative
or different cases. Assembly
18 2 2. Removal of the Council of Ministers in

With reference to Indian freedom struggle;

. « the State -

consider the following events : 5
8w o - . 3. Dissolution of the local bodies
1. Mutiny in Royal Indian Navy g s bl oo siiven
; er usi

2. Quit India Movement launched 3 5211::: -the RIS g _
3. Second Round Table Conference ok ' % Bl
What is the correct chronological sequence of () -~ land 2omly
the above events ? - ;o (b) 1and3only
(a) 1-2-3 (¢ 2and3only
(b) 2:1-3 (@ 1,2and3
() 3-2-1 : g .
@ 312 2. Which of the following are envisaged by the

Right against Exploitation in the COt' -
-of India ? i

- 19. * Consider the following statements : ;

S

1.  Tax revenue as a percent of GDP of |
India has steadily increased in the last |
decade. i

bition -o

an‘ﬂ:éd labour

-

L g ‘;'2 Abolition of untouchability
2. Fiscal deficit as a percent of GDP of :

; the interests of minorities
- India has steadily increased in the last Protection of

decade. o 4 Prbhibitiﬂn of e.mployment of children in
' : ‘ : nes
Which of the statements given above is/are factories and mt . -
correct ? \ Select the correct answer using the code given
sa¥  1only below : ‘
) 1
®) 2ol (@) 1,2andéony
only 5 58 and 4 only
(¢) - Both 1and 2 - ®) | nd 4 only
(e)

(d) Neither 1 nor 2 @ L2 3 and 4

-‘AMC-U-BKLP . (9-)
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Which of the following is geographlcally

closest to Great Nicobar ?
(@)  Sumatra

(b)  Borneo

(©) Java

(d) SriLanka

Out of the followmg statements, choose the

one that brings out the principle underlying |

Wwhich. one of the fOIlo

% jmportant seaportin the Kak,ag %35 2 very
(a)  Kakinada aklngdom 9
(b) MotUpalli
(c) Machilipatnam (Masullpatnam) : %
@ Nellur

g With reference to
Alhance which of
is/are correct?

‘Global Chmate Change
the following statements

the Cabinet form of Government - 1. Ttis an initiative of the European Union
(a) An arrangement for minimizing th,f: #2. It " provides. technical and, financi]
criticism against the Government whos,e : sup'port to targeted developmg. countnes
- responsibilities are complex and hard 1'1*0 L to integrate Ch.m_ate change into their
. . carry out to the satisfaction of all. g % development policies and budgets.
(b) A mechanism for speeding up t@ 3. It is coordinated by World Resources
h activities of ‘the Government whose| Institute (WRI) and World Business
responsibilities are increasing day by| . Council for Sustainable Development
day. ‘ | (wBCSD). |
(¢/ A mechanism of parliamentary’{r -‘ " Select the correct answer using the code given
_ democracy for ensuring collective ; * below :
' responsibility of the Govemment to the h_'_ (a) 1 and 2 only
people : Fog .
1+ (b 3only
(d) A device for strengthenmg the hands of 8
‘the head of the Government whose hold [ (¢} 2and 3only

over the people is in a state of decline.

1 S L
B ¥ il

i
3

Indian federalism ?

(a) There is an 1ndependent Judlclary in

Indla

Powers . have been clearly divided
between the Centre and the States.

(b)

The federating units have been given
unequal representation in the Rajya
Sabha.

(0

(d) It is the result of an 'agr'eement among:

the federating units.

Whlch one of the following is _notl a feature of | :

5 Indla, consider the followmg Statements
:r;-a = itiva were the

Sautrantika and Sammi
sects of Jainism. —
‘ G 1d that the constituents
; 2.  Sarvastivadin he P ———

were

henomena .
of P d forever in a

momentary, but existé
_latent form.

Which of the statements given above is/are -

‘ tzorrect
(@) 1oo
& 2oy
(© Both 1 and 2

Neither 1 nor 2

AMC-U-BKLP"

(d)

(11-gy
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For election ty he Lok §,i

ljasn Med' y 2
iterranean Sea is paper can be filed by abha, 4 Nominatjoy,

> @ border of which of the | %
following countries ? -

Q. Jordangf - . W (a)  anyone residiﬁg in Ingjy,
2.  Iraq A ' ' Tesi :
- (b) - a resident of 117
: o 0nst;
3. Lebanon which the election jg to be ttuency from
4.  Syria % - h. Contested.
Select the correct answer using the code g’iven @ = c1tlz'e 0 of Indig Whose namé
halow  For T | appears. I the electora] yop of 4
@ 1 %andSg nly'_ 3 | ' constituency,
o ) 2 and 3 only - 1@ any citizen of India.
(c) - 3 and 4 only - "% N i
(d) 1,3 and 4 only | ‘
30. With .reference.to ‘National InVesfment and ) .
Infrastruc_:ture Fund’, which of the following | 33. ‘Consider the following statements :
statements is/are correct ? 1. . In India, the Himalayas are spread over

1. Itis an organ of NITI Aayog. -

L ! five States only.
2. It has a corpus of < 4,00,000 crore at : ‘

present. _ k2. | Western Ghats are spread over five

Select the correct answer. using the code given R States only. |
i h : Tt 3.  Pulicat Lake is spread over two States
(a) 1lonly | 1% only. ;

(b)  2only , % . .

(e B‘dthyl and 2 :  Which of the statements given above is/are

. "~ correct ?

.(d) Neither 1 nor 2 ‘ ci

31. The Global Infrastructure Facility is a/an
() ASEAN - initiative ~ to ' upgrade,

: infrastructure’/in. Asia a b
-credit from the Asian

Y (@ 1land2only

Bank. (d) 1and3only

(b) World Bank collaboration  that L ' ‘
- facilitates  the preparation  and ‘
structuring of complex infrastructure | - «

Public-Private Partnerships (PPPs) to

b 34, n. . and (BOD) is a
enable mobilization of private sector ‘ Biological 'Oxygeﬂ Dem
and institutional investor capital. " standard criterion for
() Collaboration among the major banks of (a) Measuring oxygen levels in blood
. the world working with the QECD and S —
i . ; . levels 1in fores
. focused on expanding the gset Of (b) Computing oxygen
infrastructure projects that have the . ecosystems .
tential to ili jvate . ] )
?lfvestment. mobilize  pri (c) Pollution agsay in aquatic ecosystems

finance and facilitate infrastructur®
development in the world.

AMC-U-BKLP - | - (13-C)
N

regions
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36.  With reference to the role of UN-Habitat in

the United Nations programme working
towards a better urban future, which of the
statements is/are correct ?

1.  UN-Habitat has Been mandated by the

United Nations General Assembly to
promote socially and environmentally
sustainable towns and cities to provide
adequate shelter for all.

Its partners are either governments or
local urban authorities only.

UN-Habitat contributes to the overall
objective of the United Nations system
to reduce poverty and to promote access

to safe drinking water and basic |

sanitation.
Select the correct answer using the code given
below :
(a) 1,2and 3
(b) 1and 3 only
(c) 2and3only
(d 1lonly
36. With reference to ‘National Skills

Qualification Framework (NSQF),, which of
the statements given below is/are correct ?

"Under NSQF, a leamei- can acquire the

certification for competency only
through formal learning.
2.  An outcome expected from the

implementation of NSQF is the mobility

between  vocational and general
education. .

Select the correct answer using the code given

below :

(a)  1lonly

(b) 2 only

(¢) Both1and2

(d)  Neither 1 nor 2

@? ; Whuch Uf"’the follo

‘- In the context of Indian hi
1 2 yarchy Gianchyy

referg ¢
Division of th
2) € centp : .
( o al legxslature into
(b) Introduction of double g0vernment i.e
Central and State g0vernmentg_ -

Having two sets of rulers; one i, London
and another in Delhj

Division of the subjects delegated to the
provinces into two categories,

Consider the following in respect of ‘National
Career Service’:

1. National Career Service is an initiative
of the Department of Personnel and

: Training, Government of India.
-f( National Career Service has been

launched in a Mission Mode to improve
the employment opportunities to
5 uneducated youth of the country.

‘Which of the above statements is/are correct 7

1 only

2 only
~ Both 1and 2
~ Neither 1 nor 2

gT statements  best
describes the term ‘Scheme for St:stalnalzlle
cturing of Stressed Assets (S4A) , recently
Wen in the news ?

It is a procedure
ecological costs ©
schemes formulated by th

3 It is a scheme of RBI for r.eWOI'k:,lng th?
financial gtructure of big ?Orporate
: entities facing genuine difficulties.

It is a gjsinvestment plan of th_e
Government regarding Central Public
Sector Undertakings. ;

It is an important provision in “The

for considering
f developmental
e Government.

AMC-U-BKLP

Insolveney ,,4 Bankruptcy Code’
recently implemented by the
Governmep ¢ :
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I,g,lder the following ;
Teg
43 0 ool Naval Symposlum (ION ) Ct of Indiap

- Inaugural IONS Wag h

Consider the

| following statements :
g

Climate ang Clean Ajr. Coalition '_ g
(CCAC) to Reduce Short Lived Climate |

el in Ingis iy
Pollutants is a unique initiative of G20

“UManship of 41,
' Indian Nav . P of the
group of countries. . | il ‘ .
9 The C | 4 IONS is a voluntary
4 e CCAC focuses on methane, black 2 mmat“’e that
.carbon and hydroﬂuorocarbons ' 8 seeks to increase maritime Co-operation
Which of the statements gwen above is /are E among navies of the littoral stateg of the
correct ? Indian Ocean Region.
(a) 1lonly . thich of the above statements is/are correct ?
(b) 2only ] (a) 1 only
(¢)  Both1and2 L » 2ol

. " | P
(d) Neither 1nor2 . (© Bothland2

41. With refference to ‘Indian Ocean Dipolé (I0DY || ! (d) Nelf,her k npr 2
sometimes mentioned in the news while g
forecasting Indian -monsoon, which of the |
following statements is/are correct ? ' _ Q.'e painting of Bodhisattva Padl];lapimt;;
1. = IOD phenomenon is characterised by a |- e of the most famous and oft-ilustra

difference in sea surface temperature
 between tropical Western Indian Ocean
and tropical Eastern Pacific Ocean.

2. An 10D phenomenon can influence an |-
- El Nmo ] meact on the MOonsoon.

étit ‘answer using the code given

2
o 45. Wonsider the following pairs :
?Z: f?»:tl;llyl and 2 | ‘  Traditions C’omml:l?lities
(d) Neither 1 nor 2 .  Chaliha Sahib Festival — Sindhjs™
' | | Nanda Raj Jaat Yatra - QOBHE . "f x
42, If you want to see gharials in theif natural ; Wari-Warkari ‘ _ Santhals
habitat, which one of the following is the best i Which of the pairs given above is/are correctly
place to visit ? : Matched ?
(a) Bhitarkanika Mangroves . h-'-'fa':-fi:j(.a) 1 only
(®  Chambal River ‘ ) gand 3 oqu
()  Pulicat Lake , % © 1 and 3 only
(d)  Deepor Beel '( @ Nose of the abgye
AMC-U-BKLP (17-€3
el
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Which g organic Light Bmipino o
d of the folhmng Practices can help in 49. d to create digi ln.g Odeg: (OLED .
- water con ki B oot useé gital dmpiay' 8) are
1 R e agriculture ? what are the advapt, 1 Magy devices
&+ Reduced or zero tillage of the land- - : T HABEs of '

- . e ek ED " i
2. Applying gypsum before irrigating the "Ver‘L'lqmd .C‘I'ystal displaysy” LAl
R TR - OLED displa
3.  Allowing crop residue to in i 1. D OUS AN b gy o
field ng crop ) ramalg in the » flexible plastic substrgte, % f‘ti?ted on
‘Select the correct answer usin; i ‘ > i
: g the code given s ahe bt SRUIRRGE G
beldw : ; 9. Roll-up displays embgqy; clothing
(a8) 1and2only : can be made usi'ng'OLEDs,‘ S %
()  3only Ml
(© 1land3only ¢ _ - 8. Transparent displays are possihje using
d 1,2and3 i, ok ' : OLEDs.
5. Consider the followfng statements : | o Select the correct answer using the code given
The nation-wide ‘Soil Health Card Scheme’ below :
aims at - * '
1. expanding the -cultivable area under (8 1land3only
irrigation. ' e
2.  enabling the banks to assess the () 2only

quantum of loans to be granted to
farmers on the basis of soil quality.
3. checking the overuse of fertilizers in
farmlands.

(c) 1,2 and 3

None of the above statements is

Which of the above statements is/are correct ?
(a) 1and 2only i 4
(b) .3 only - :
(¢©) 2and 3 only
and3

correct

M

of the ollong. isjare famous fo—r Sun

follow: ples ? ' :

Commonly used./ Unwanted or b
. ; \ 1
consumed materials controversial - ; A;_'aslava‘l :
‘chemicals likely to I
; ant
be found in them HATHaTS. ok
Lipstick 7 —  Lead - Omkaré_shwa_r
Softdrinks- -~  Brominated ct the correct answef using the code given
vegetable oil% el o e ‘
3.  Chinese = _ Monosodium i B
fast food glutamate Aa). - 1only
Which of the pairs given above is/are correctly e ‘
matched ? ’ ' : (b) 2 and3 only
(@)  1lonly ; d3o
n nly
(®) 2 and 3 only _ : v e
() land 3 Only/ ' (d) ) 1, 2 and 3_.

(d 1,2and3
s AMC-U-BKLP '
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1. With reference to the Parliament of India, 53
fi# consider the following statements :

1. A private member’s bill is a bill
presented by a Member of Parliament
who is not elected but only nominated
by the President of India. :

2.~ Recently, a private member’s bill has

" been passed in the Parliament of India
o for the first time in its history.
v Which of the statements given above is/are
correct ? ‘ '

(a) 1lonly

b)) 2 qnly 54,

(c) Both1and2

(d) Neither 1 nor 2

52. With reference to the difference between the
culture of Rigvedic Aryans and Indus Valley
people, which of the following statements
is/are correct ? ‘ :

1. Rigvédic Aryans used the coat of mail | 55
and helmet in warfare whereas the
people of Indus Valley Civilization did | o
not leave any evidence of using them.

2. Rigvedic Aryans knew gold, silver and
copper whereas Indus Valley people
knewr only copper and iron. 56.

3.  Rigvedic Aryans had domesticated the
horse whereas there is no evidence of
Indus Valley people having been aware
of this animal.

Sel :

| b:l:::: :the éonect answer using the code given
(a) 1 on_ly
®) 2ang3 il
() 1 and 3 Only
AMC-U-BKLp .
‘ (21-C)

:+ion . of Prior ing
ﬂecognltlon 0 ; L.earmng Scheme’ ig
Jtimes mentioned in the news with

4 rence to

o Certifying the skill .

(3) - 8 acquired by
construction workers Hhiigh

traditional channels.

(b) Enrolling the persons in Universities for
- distance learning programmes,

© Reserving some skilled jobs to rural and
_urban poor in some public sector

undertakings.

(d) Certifying the skills acquired by
trainees under the National Skill
Development Programme.

From the ecological point of view, which one

of the following assumes importance in being

a good link between the Eastern Ghats and

the Western Ghats ?

(a) Sathyamangalam Tiger Reserve

(b) Nallamala Forest

(c) Nagarhole National Park

(@ Seshachalam Biosphere Reserve

One of the implications of equality in soc{ety . ‘

is the absence of-. : —— R, BEGE

(a) Privileges . '

(b) Restraints. ,

(c) ', Competition

(@) Ideology

Consider the following statements in respect

of Trade Related Analysis of Fauna and Flora

in Commerce (TRAFFIC) : _

1. TRAFFIC is a bureau under United
Nations Environment ~ Programme
(UNEP). e i 5 i

2. The mission of TRAF 18 0 Shsmre

" that trade in wild plants and animals js
not a threat to the conservation of
nature. o

‘Which of the above statements is/are correct ?

(a) 1only

(b) 2only

(¢) Both1and?2

. (d) . Neither 1 nor 2
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59.

(a)  1and 3 only

(b} 2 only

) 3 only

(d) 2 and 3 only
AMC-U-BKLP

. Constitution ?

. correct ? _ . S
Rights are claims of the State against

(d)

Which of the following gives ‘Global Gender

‘Which of the following statements
-correct regarding Smart India Hackathon
. 2017? -

Which _principle among the following was
added to the Directive Principles of State

Policy .by the 42"

(a)  Equal pay for equal work for both men
and women ‘ o

(b)  Participation = of workers in  the
management of industries - e

(¢) Right to work, education and public |-
assistance -

(d) Securing living wage and human

- conditions of work to workers

Which “one of the following statements is

(a)

- the citizens.

(b) Rights are privileges which: are
~ incorporated in the Constitution of a
, State. _ ' : ‘
() Rights are claims of the citizens against
. the State. _ : : ;
Rights are privileges of a few citizens |

against the many. -

Gap Index’ ranking to the countries of the
world ? ' ' ‘

(a)  World Economic Forum X
(b) UN Human Rights Council
(¢) UNWomen - 7 =

(d) World Health Organization

1. It is a centrally sponsored scheme for
developing every city of our country into
Smart Cities in a decade.

2. It is an initiative to identify new digital

- technology innovations for solving the
many problems faced by our country,

3. It is a programme aimed at making all
the financial transactions in our country
completely digital in a decade. '

Select the correct answer using the code given
below : -

-e |

61.

Amendment to the | .

63,

(23~

c)

_ Which of the statemel;ts_ gi._a_‘

ch of the following ’st .
is/are

rect  Tegarding the ° On;lents

¢ amittee (MPC) ? 1Y Policy
It decides the RBs b :

b rates. - Anc}m,lark a—
It is a 12-member hog, .

9, : ‘ ‘ iy mdud]_n th
Governor_ of RBI_ and’ ig reconstiiute;
every year.

4 It functions under the chairmanghip of
the Union 'Finapce Minister,
. Gelect the correct answer using the code given

below : .

'(a). 1 only.

. () 1and2only
(@ S8only
(@ 2and3only
With reference to Manipuri Sankirtana,

* consider the following statements :

It is a song and dance performance.

Cymbals  are the only musical
- instruments used in the performance.

3. Itis performed to narrate the life and

deeds of Lprd Krishna.

o
B

@ 1 only

Mo among the following was/were associated
th the introduction of Ryotwari Settlement
inIngdia during the British rule ?

1. Lord Cornwallis

2.  Alexander Read

3. Thomas Munro

Select the cOTTect ansWer using the code given
below : ‘ .

a)’ 1only
: © 2 and 3-only
Gy 1208

PN
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65.

67.

L 1t is a technique for cleaning up pollution
by enhancing the same biodegradation
Process that occurs in nature,

2. . Any contaminant with heavy metals such
as cadmium and lead can be readily and
c01'nplett.ely treated by bioremediation
using microorganisms. '

3. Genetic engineering can be used to create
microorganisms specifically designed for
bioremediation. :

Select the correct answer using the code given
below :

(a) 1only

(b) 2 and 3 only
(¢) 1and3only
(d) 1,2and3

The Trade Disputes Act of 1929 provided for

(a) the participation of workers in the
management of industries.

(b)  arbitrary powers to the management to
quell industrial disputes.

(c)  an intervention by the British Court in
the event of a trade dispute. .

(d) a system of tribunals and a ban on | 70-
strikes.

Local self-government can be best explained

as an exercise in it fo \

- (&)  Federalism

() Democratic decentralisation

()  Administrative delegation

(d) Direct democracy

Consider the following statements :

With reference to the Constitution of India,

the Directive Principles of State Policy

constitute limitations upon

1. legislative function.

2. executive function.

Which of the above statements is/are correct ?

(a) 1only . '

(b)  2only

(¢) Both'land 2

(d)  Neither 1 nor 2

§C-U-BKLP (25-C)

> | 68.

69.

@

* Property Transactions Act, 1988 (PBPT Act’,

e i

term ‘Digital Sing), M

le in the news refers ¢, arket. St"ategf
(5:) ASEAN
" BRICS
U
(© E
(d G20

At one of the places in India, if yo, stand on
the seashore and watch the Sea, you will find
that the sea water recedes from the shore line
a few kilometres and comes hack to the shore,
twice a day, and you can actually walk on the
sea floor when the water recedes. This unique
phenomenon is seen at

(a)
(b)
{c)

Bhavnagar
Bheemunipatnam
Chandipur

Nagapattinam

‘With reference to the ‘Prohibition of Benami

consider the following st

[ g S I, A < ~‘“~. : ¢
11 . ﬂ Property transgztmn is not treated ;s
T W a benami transaction if the owner of: the

property is not aware of the transaction.

2 Properties held benami are liable fgr

confiscation by the Government.

3. The Act provides for three authoﬁt?ES
for investigations but does not provide
foi' any appellate mechanism.

‘Which of the Statements given above is/are

Correct ?
(a) 1only
(b) 2only
( 1and3only ;
@ 2and 3 only
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73.

‘  Due to some reasons, if there is a huge fall in
. the population of species of butterflies, what
could be its likely consequence/consequences ?

Pollination of some plants could be
adv_ersely affected.

There could be a drastic increase in the
fungal infections of some -cultivated
plants.

3. It could lead to a fall in the population
of some species of wasps, spiders and
birds. '
Select the correct answer using the code given
below :
(@) 1 only
(b) 2 and 3 only
1 and 3 onl
(c) and 3 only 74,
(d 1,2and3

It is possible to produce algae based biofuels,
but what is/are the likely limitation(s) -of
developing
industry ? _
Production of algae based blofuels is
possible 3

72.

countries in promoting this

1.

in seas only’
'*}é‘-‘ Q’[ .-

g up and engineering the algae
based biofuel production requires high

level of expertise/technology until the
construction is completed. 8.

3. Economically viable production
necessitates the setting up of large scale
facilities which may raise ecological and
social concerns.

Select the correct answer using the code giyen

below :

(@) 1and 2 only

(b) 2 and 3 only

()  3only

(d) 1,2and 3

AMC-U-BKLP
(27-C)

; -"below

|4 rWhmh ofﬁheza
o (%3)} ‘lonly
(b)

. 2 only
(@ ; " Both 1 and 2
@ ~ Neither 1 nor 2

of the following are the 4
Whlch ;51 Nutrition Mission’?
‘Nﬂﬂ fo Create awarenes
) alnutrition among p

d lactating mothers,

To reduce the incidenc,

Telating 45
Pregnan Wwomen

 of anaemia

2. ong young children
am ’ adoleso
gnd women. ot glrls
To promote the consumption of millets,
3. coarse cereals and unpolished rice,
: ; To promote the consumption of poyltry

: eges-:
_ Selwb the correct answer using the code given

_1 and 2 only
-(b) 1,2 and 3 only
@ 1,2 and 4 only

] (d) ; 3and 4 only

Conmder the following statements :
%’ The Factories Act, 1881 was passed
. with a view to fix the wages of
i;: industrial workers and to allow the
* workers to form trade unions.
}&"NM Lokhande =~ was @ pioneer 4
organizing the labout. movement
British India.

in

the impending
anthropogenic
which of the
ites for car bf’n

In 'ﬂ;'e context of mitigating
globa] arming due t0

€Missions of carbon dioxide,
f':’110‘W;lng can be the potential 1

Sequestration ?
mi
doned and unecono
Aban SerVolr S

fomatIOﬂ S
glven

c coal Seams
De pleted oil and gas re
Subterranean deep saline

de
Select the corT ect answer using the ¢

below -

(a) 1a nd 2 only
(b) 3only

(c) 1 and 3 osnly'
@ 1,280
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e

The object of the Butler Committee of 1927
wasto 25 s, 2o

(@) Define the jurisdiction of the Central
and Provincial Governments.
(b) Define the powers of the Secretary of
State for India.
(c)  Impose censorship on national press.
(d) Improve the relationship between the

Government of India and the Indian
States.

The term ‘Domestic Content Requirement’ is
sometimes seen in the news with reference

to

(a) Developing solar power production in
our country

(b) Granting licences to foreign T.V.
channels in our country

(c) Exporting our food products to other |
countries

(d) Permitting foreign educational

institutions to set up their campuses in |

our country

Consider the following statements :

79.

80.

81.

1. The Nuclear Security Summits are
periodically held under the aegis of the
United Nations.

2. The International Panel on Fissile
Materials is an organ of International

~ Atomic Energy Agency.

Which of the statements given above is/are

correct ? ' .

(a) 1only

(b) 2 only

(c)  Both1and2

(d) Neither 1 nor 2

AMC.U-BKLP (29—

C)

- (@)

among  the fol]

: s g c . .

-National Pension System (NPg) ?n 190 the

o Resident Indian Citizeng only

i persons of age from 921 to 55 only

© All Stat('e Government employees jying
the services after the date of notiﬁcatigxgjl
by the respective State Gevernments

@ All Central Government employees

including those of Armed Forceg joining
the services on or after 1% April 9004

Wwith reference to river Teesta, consider the
following statements :

1. The source of river Teesta is the same
as that of Brahmaputra but it flows
through Sikkim.

2. River Rangeet originates in Sikkim and
it is a tributary of river Teesta.

3. River Teesta flows into Bay of Bengal on |
the border of India and

Which of the statem
correct ?

1 Eind 3 only
(b) 2 only -
(© 2and3 only
(d) l, 2 and 3

Coﬁsidér the following statements : :
g virus disease 18

L Iy tropical regions, Zik mosquito that

~transmitted by the same

transmits dengue. '

& Sexual transmission of Zika
 disease is possible. _

Which of the statements giver abo
correct ? _ . _

virus

ve is/are

(?') 1 only )<

(b) 2 only

(c) Both1land?2 i’
(d) Ne.ither‘l nor 2 i & -.
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L Consider the following statements : -

@

84!

(a) 1 only :

(b) 2 only l

(¢} Both1apng2

(d) Neither 1 nor 2
AMC-U-BKLp

correct ?
(a) 1only
() 2only.
(¢) Both1and?2
(d) Neither 1 nor 2

1. The Standard Mark of Burean of Indian
Standards (BIS) js mandatory for
automotive tyres and tubes, _ :

2, AGMARK is 3 quality Certification
Mark issued by ~ the Food and
Agriculture Organ.isatiqn (FAO).

Which of the statements given above is/are

What is/are the adva.ntage/advantages of
implementing the ‘National Agriculture
Market’ scheme ?

1. Itis a pan-India electronijc trading portal

for agricultural commodities.

2. It provides the farmers access to
nationwide market,  with prices-|.
commensurate with the quality of their
produce. '

~ Select the correct answer using t‘heAcod‘é given |

be]olw: : : g

Both 1and 2
Neither 1 nor 2

©

With reference to the ‘National Intellectual

Property Rights Policy’, consider the following

statements : : Y ' =

L It reiterates India’s commitment to the

- Doha Development Agenda and - the
TRIPS Agreement, .

2. Department of Industrial Policy‘ and

~ Promotion is the nodal agency for

regulating intellectual  property rights |

in India. -

Which of the above statements is/are correct ?

i the Wildlife .
- A" pich of the following anip, Act,
197% ted BY any person ey,
be ‘1’11 o0 provided by law 9
ro .
P Gh_?ﬂal
2. [pdian wild ass
wild buffalo
i S;Ie et the COTTeCt answer using the ¢oq. ik
below :
@ lomby
@) 2and 3 only
© 1and3only
@ L3 |
Whmh;;f the following statements is/are tf'ue .
of the Fundamental Duties of an Indian_
. citizen? ' :
; 1* A legislative process has been provideﬂu :

85.

86.

3

¢ .to enforce these duties.

B diam
| First President of the British Ind

.2~ . Association "
- G inar: hetty — ;
Y82uly Lakshminarasu C B
% Founder of the Madras MahaJ'
: sé‘ Sabha - |
" MUrendranath Banerjee — .
R ; . Founder of the In‘d1a1.1 Aszoc:;ﬂ
Which of the above pairs is/ar
matched 2. .
. (a)» { only "
(b) land 3only .
@ o gs0nly
1,2 and?
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88. ‘W'hich-bne of the following objectives is not | 91.
embodied in the Preamble to the Constitution

of India ? '

(@) Liberty of thought

_ (b) Economic liberty‘r

()  Liberty of expression

(d) Liberty of belief

89. With reference to ‘Quality Council of India

(QCIY, consider the following statements :

1. QCI was set up jointly by the
Government of India and the Indian
Industry. ' S

9.  Chairman of QCI is appointed by the
Prime Minister on the recommendations

. of the industry to the Government.
Which of the above statements is/are correct ?
@ 1 only
 ( 2only 92.3

(¢) Bothland2 24 i

d ~ Neither 1 nor 2 T ﬂ* -

90, What is the purpose of setting up of Small

Finance Banks (SFBs) in India ?

1.  To supply bredit‘ to small business units

2.  To supply credit to small and marginal
farmers :

5 T ' 93.

‘ 0 encourage young entrepreneurs to
set up business particularly in rural
areas.

Select the : g

ol correct answer. usmg the code given

(a) 1land2only

(b) 2and 3 only

(¢0 land 3 only

(d 1,2and3

AMC-U-BKLP " e
(33-C)

) va band of dedicated

rence to ‘Asia Paqi

. f@fe } ) lﬁc Ministerm B
Wltl;ereﬂce t O?APM}IC(;;IEng’ and Urban .";":
peve”  statements : e

o ,

fo]lowl : \ : .

 qhe fjlrs.t APMCHUD 'y W g

1. [pdia in 2006 on the theme Emerging
- prbat Forms — Policy Responses and

governance Structure’.

“Ipdia hosts all the Annual Ministerial
2 . Conferences in partnership with ADB,
APEC and ASEAN.

.ch of the statements given above is/are

-t
@ 1 only
b 2only
(¢) Both 1 and 2
@ Neither 1nor 2

:\intelliiéénce' and ~character nf

3‘rdinary men and womell. K

(b%: " the methods for strengthening executi‘fﬁ
:%ffﬁadership. : A;

(© ‘a superior individual Wi
" and vision.

e
s

th dynam

party workefs.

Which of the following i 2 mOSEU:;:g
consequence of implementing the

Payments Interface (UPD’?
] not be necessary for

(a)  Mobile wallets wil
online payments. e
(b)  Digital currency will totally replacfie&
‘physicallcurnency in about tWO0 deca
(¢) FDI intlows will drastically increase-
(d) Direct transfer of subsidies to poo!

people Will become very effective.
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The' terms ‘Event Horizon’, ‘Singularity’,
‘String Theory’ and ‘Standard Model' are
Sometimes seen in the news in the context of

con’text of Indig
is the correct
nd Duties 7~

s Wh
I‘elat1 e of the
Onship, etween

m
follo™”
nghtﬁ
y Rights are correlative With Iy
s,
(a Rights . Persong]
(b) dependent of society apg Dut

97..

are
d hence

nghts not Duties, are impq Mant for
the advancement of the Personality of

?Ehe citizen.

()

'(d) puties, not Rights, are important for

; the stability of the State,

- The mind of the makers of the Constitution of
; Indiaisireﬂected in which of the following ?

(a) The Preamble
(b) 'Ehe Fundamental Rights
(c) The Directive Principles of State Policy

The Fundamental Dut:_ie o

the minimum number of
States within India through which you can

- travel, including the origin and the
destination ?

(a) 6

) 7

{c) %

d 9

16 Ty Pﬂl‘hament of India exercises control ::sr
the functions of the Council of Minis

thl‘Ough

L Adjournment motion
2 Question hour

3.

Supplementary questions

jven
Select the correct answer using the code &1

(a)  Observation and understanding of the
Universe

(b)  Study of the solar and the lunar eclipses

(¢)  Placing satellites in the orbit of the

¥ Earth

(d)  Origin and evolution of living organisms
.on the Earth

95. With reference to agriculture in India, how
can the technique of ‘genome - sequencing’,
often seen in the news, be used in the
immediate future ?

1. Genome sequencing can be used to
identify genetic markers for disease
resistance and drought tolerance in
various crop plants.

2. This technique helps in reducing the
time required to develop new vanetl
of erop plants , R

3. It can be used to dec1pher the

s "-&wst-pathogen relatlonshlps in crops.
E G Select the correct answer using the code given
! below -

(a) 1lonly

(b) 2 and 3 only

(¢) land3only

d 1,2and3

96. The main advantage of the parliamentary
form of government is that

(a) the executive and legislature work
mdependently

-(b) it provides continuity of policy and is
more efficient.

() the executive remains responsible to the
legislature.

(d) the head of the government cannot bhe
changed without election.

AM(:-U-BKLP (35—

i

below .

@ 1 only

(b) 2 and 3 only ;
(c) 1 and 3 only

(d 1,2and3

c)
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